nanosecond

796468 s: Mdev= 0.19428E-13 Tdev= 8934 ps
398234 s: Mdev= 0.23350E-13 Tdev= 5369 ps
199117 s: Mdev= 0.22553E-13 Tdev= 2593 ps
99558 s: Mdev= 0.42191E-13 Tdev= 2425 ps
- 49779 s: Mdev= 0.66028E-13 Tdev= 1898
09/04/12 mbroigrt56137 _35.ppp_defaut-3d-15_1-stp 24890 o Mdov= 0 10116512 Tdev= 1454 pe
12445 s: Mdev= 0.13760E-12 Tdev= 989 ps

6222 s: Mdev= 0.18496E-12 Tdev= 664 ps
| . | . | . |

3111 s: Mdev= 0.26468E-12 Tdev= 475 ps
Following steps remove 1556 s: Mdev= 0.38405E-12 Tdev= 345 ps
. : 778 s: Mdev= 0.59387E-12 Tdev= 267 ps
56142.99826 : Step 1 -3 389 s: Mdev= 0.10527E-11 Tdev= 236 ps
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